	Fiche ……
	Proportionnalité
	Pr15

	
	Produit en croix
	


	(Entraînement 1 : Complète ces tableaux de proportionnalité avec la technique du produit en croix

	

	3
	………
	 (    EQ \s\do1(\f(3 x 15;9)) = ………    
	
	6
	4
	(    EQ \s\do1(\f(4 x 15;6)) = ………    

	9
	15
	
	
	15
	………
	

	

	………
	4
	 (    EQ \s\do1(\f(20 x 4;………)) = ………    
	
	6
	4
	(    EQ \s\do1(\f(4 x ………;6)) = ………    

	20
	16
	
	
	33
	………
	

	

	8
	6
	(    EQ \s\do1(\f(……… x ………;8)) = ………    
	
	10
	12
	(    EQ \s\do1(\f(……… x ………;…………)) = ………    

	12
	………
	
	
	………
	156
	

	

	………
	15
	      EQ \s\do1(\f(……… x ………;…………)) = ………    
	
	24
	………
	EQ \s\do1(\f(……… x ………;…………)) = ………

	8
	12
	
	
	18
	12
	

	


	(Entraînement 2 : Complète ces tableaux de proportionnalité avec la technique du produit en croix

	

	3
	………
	EQ \s\do1(\f(……… x ………;…………)) = ………
	
	8
	6
	EQ \s\do1(\f(……… x ………;…………)) = ………

	10
	15
	
	
	10
	………
	

	

	………
	4
	EQ \s\do1(\f(……… x ………;…………)) = ………
	
	6
	4,2
	EQ \s\do1(\f(……… x ………;…………)) = ………

	21
	15
	
	
	10
	………
	

	

	9
	6
	EQ \s\do1(\f(……… x ………;…………)) = ………
	
	2
	4
	EQ \s\do1(\f(……… x ………;…………)) = ………

	1,5
	………
	
	
	………
	5,6
	


	(Entraînement 3 : Complète ces tableaux de proportionnalité avec la technique du produit en croix

	Nombre d’ananas
	6
	
	12
	
	

	Prix en €
	8
	12
	
	18
	

	
	
	(
EQ \s\do1(\f(6 x 12;………)) = ………    
	(
EQ \s\do1(\f(……… x 12;………)) = ………    
	(
EQ \s\do1(\f(……… x 18;………)) = ………    
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